
ᓄᓇᖃᖅᑳᖅᓯᒪᔪᑦ 
ᓂᕿᓄᑦ 

ᐊᑦᑕᕐᓇᖅᑕᐃᓕᒪᓂᖅ 
ᐊᒻᒪ ᐃᓅᓯᕆᔭᐅᔪᑦ

ᐊᒥᓲᑎᒋᔭᐅᔪᑦ 
ᐋᓐᓂᐊᖅᑕᐃᓕᒪᓂᕐᒧᑦ 

ᐊᒻᒪ ᑎᒥᒧᑦ 
ᖃᓄᐃᓐᓂᕆᔭᐅᔪᑦ

ᐃᓕᖅᑯᓯᖅ ᐊᒻᒪ 
ᐃᑲᔪᖅᑎᒌᑦ-ᐊᐅᓚᑦᑎᓂᖅ 

ᐊᖑᓇᓱᓐᓂᕐᒧᑦ 
ᐊᑲᐅᓈᕐᓂᖅ.

ᒥᑭᔪᑦ ᐆᒪᔪᑦ ᐊᒥᓲᕙᓪᓕᐊᔪᑦ 
ᐅᑭᐅᖅᑕᖅᑐᒥ

ᓱᕋᕐᓇᖅᑐᑦ ᐃᓚᒃᓴᐃᑦ

ᓄᖑᕙᓪᓕᐊᔪᑦ ᓂᕿᒃᓴᓕᕆᓂᖅ 
ᐃᓱᐊᓈᕈᑎᒃᓴᐃᑦ ᐊᒻᒪ 

ᐊᓯᙳᖅᐸᓪᓕᐊᔪᑦ ᓂᕿᒋᔭᐅᔪᑦ 
ᑐᙵᕝᕖᑦ

ᐊᑭᕋᖅᑑᑎᔪᑦ 
ᓂᕿᒃᓴᓂᑦ

ᐊᔪᖅᓯᓯᒪᔪᑦ

ᐊᐅᑦᑕᔫᑦ

ᓄᑖᑦ ᒥᑭᔪᑦ ᐆᒪᔪᑦ 
ᐊᒻᒪ ᐋᓐᓂᐊᕐᓇᖅ

ᑕᕆᐅᒥ 
ᐆᑕᕐᓇᓕᐅᕐᓂᖅ

ᐅᖓᕙᖅᐸᓪᓕᐊᔪᑦ ᓯᑯ

ᓇᔪᕐᕕᒋᕙᐅᔪᑦ 
ᓄᖑᕙᓪᓕᐊᔪᑦ

ᓂᐱ

ᐊᓯᙳᖅᐸᓪᓕᐊᔪᑦ 
ᐃᖏᕐᕋᓂᕐᒧᑦ/ᐱᐊᓛᓕ

ᐅᖅᑐᑦ

ᐊᒃᓱᕈᕐᓇᖅᑐᑦ 
ᑐᓴᐅᒪᖃᑦᑕᐅᑎᓂᖅ 

ᐊᒻᒪ 
ᓇᔪᕕᖃᕈᓐᓃᕐᓂᖅ

ᐊᒃᓱᕈᕐᓇᖅᑐᑦ 
ᓇᔪᕐᕕᒋᔭᐅᔪᑦ 

ᑐᓵᓂᒃᑯᑦ

ᐃᖃᓗᓕᕆᓂᖅ

ᑐᕌᒋᔭᐅᔪᑦ

ᐅᒥᐊᕐᔪᐊᓕᕆᓂᖅ

ᓯᑯᐃᖅᐸᓪᓕᐊᔪᑦ

ᓯᓚᐅᑉ ᐊᓯᙳᖅᐸᓪᓕᐊᓂᖓ


